	Reading Comprehension Test
For 10th Form Students
Directions:	In this test you will read six texts.  Each text is followed by 5 multiple-choice questions.  For each task you will choose the best possible answer from four possible answers (A, B, C, or D).  Choose the best answer and write the letter of your choice down into the answer sheet.

	



Text 1:  Dr. Pathak and India's Untouchables
UshaChaumar, a gregarious 40-something with an enormous grin, can pinpoint the exact day she stopped being one of the "untouchables," the Hindu caste that was supposedly abolished in 1950. 
It was 2003, and Ms. Chaumar was on her way to work when Bindeshwar Pathak stopped her. She recalls being amazed that a "nicely dressed" man would even speak with someone like her: a manual scavenger. As such, it was her job to clean human waste, by hand, from homes that lack flushing toilets in this dusty town in the state of Rajasthan. 
Dr. Pathak asked her why she covered her face with her shawl and why she seemed ashamed to talk to him. At the time, Chaumar had no idea she was speaking to the man whose mission it was to end manual scavenging and who would eventually change her life. 
Pathak founded an organization called Sulabh in 1970 to eradicate the practice by replacing unplumbed toilets with affordable flush ones, and by giving scavengers training for other jobs. 
"Shopkeepers would drop the rice to me – they wouldn't touch me," Chaumar remembers, losing her smile for a moment. "And they made me put my money down, away from them. They threw water over it before taking it." Today, she earns a living selling homemade pickles and embroidered cloths. 
Manual scavenging was banned in India in 1993, by a law that forbids the construction of dry toilets and requires existing ones to be destroyed. But in India, such laws tend to be implemented slowly. There are thought to be several hundred thousand manual scavengers still working; a recent report found there were over 1,000 in Delhi alone. 

1. The goal of Sulabh, an organization founded by Dr. Pathak, is to:
  A. eradicate poverty in India.
  B. end manual scavenging.
  C. sell embroidered cloths.

2. Apart from replacing unplumbed (dry) toilets, Sulabh:
  A. helps scavengers train for new jobs.
  B. gives scavengers a monthly allowance.
  C. teaches former scavengers how to read and write.


3.  Although manual scavenging was officially banned in India in 1993:
 A. nothing has been done to implement this ban.
 B. the ban has not been fully implemented.
 C. a new law allowing scavenging was passed in 1998.

4.  According to some estimates, how many manual scavengers are still working in India?
 A.  over 100,000
 B.  under 100,000
 C.  1,000
5. UshaChaumar says that shopkeepers ____________ when she worked as a scavenger.
 A.  were always very nice to her
 B. would give her free rice
 C.  would not touch her

Text 2: Outdoor Activity Injury Statistics
More people are hurt snowboarding than any other outdoor activity, accounting for a quarter of emergency room visits, according to the first national study to estimate recreational injuries. Trailing snowboarding are sledding and hiking, researchers at the Centers for Disease Control and Prevention report in the journal Wilderness and Environmental Medicine. The most common problems were broken bones and sprains, accounting for half of all cases. 
"We want people to participate in outdoor recreational activities. But we want people to recognize that there's cause for concern and people can and do get injured," study co-author Arlene Greenspan said Tuesday. She said injuries can be avoided through planning and preparation: making sure your fitness level and skills match the activity and using proper equipment like helmets. 
Greenspan said the study is the first to look at injuries from all activities, instead of individual sports or geographic areas. The researchers looked at data on injuries from outdoor activities treated at 63 hospitals in 2004 and 2005. They calculated that almost 213,000 people annually were treated for such injuries nationwide. About half of those injured are young, between ages 10 and 24 and half of the injuries are caused by falls. 
Males are injured at twice the rate of females, but the research didn't look at the reasons. "It could be that males are more risky or it could be that males just participate more than females, or a combination of both," said Greenspan. Nearly 26 percent of the injures were from snowboarding followed by sledding (11 percent); hiking (6 percent); mountain biking, personal watercraft, water skiing or tubing (4 percent); fishing (3 percent) and swimming (2 percent). 
1. What percentage of all injuries resulted in a broken bone or a sprain?
A.  50%
B.  25%
C.  33%
2. Who gets hurt more - men or women?
A.  Men get hurt twice as much as women.
B.  They get hurt about the same.
C.  Men get hurt slightly more than women.
3. What activity is the third biggest cause of injuries?
A.  Sledding
B.  Snowboarding
C.  Hiking

4. According to Arlene Greenspan, how can injuries be avoided?
A.  By going to a hospital
B.  Through planning and preparation
C.  By avoiding recreational activities

5. What percentage of emergency room visits are the result of outdoor activity injuries?
A.  50%
B.  25%
C.  33%

Text 3: The Sad Fate of Japan's Shelter Dogs
It's a dog's life for a stray mutt in any country, but in Japan a canine that ends up in the municipal pound is far more likely to be put down than to find a new home. 
While in some other industrialized countries the idea of "saving" a pet from a shelter is well-established, in Japan animal welfare activists say strays often fall foul of an attitude that prizes puppies and pedigrees as status symbols. 
"In Britain, the public go to animal welfare shelters to adopt an animal and save a life. The mindset in Japan is still 'if you want a pet, go to a pet shop'," said Briar Simpson, a New Zealander who works for Japan's animal shelter ARK, via e-mail. 
In Britain, approximately 6 to 9 percent of dogs in pounds are put to death every year, 2007-2009 figures show, according to the website of Dogs Trust, the nation's largest dog welfare charity. 
In Japan that figure is more than 70 percent, the Japanese animal welfare organization ALIVE says. 
In rural areas, such as Tokushima Prefecture, on the southwestern island of Shikoku, the situation is even worse. In 2008 alone, more than 88 percent of abandoned dogs at the Tokushima Animal Welfare Center were put down. 

1. According to the article, about 70% __________________.
A.  of shelter dogs in Japan are killed every year
B.  of Japan's dogs end up in shelters
C.  of Japan's animal shelters are overcrowded

2. To say that an animal is "put to sleep" is a polite way of saying that it is killed. What's another synonym for this that's used in this article?
A.  Put down
B.  Put out
C.  Put away
3. Why do so few Japanese people adopt dogs from shelters?
A.  Because most people in Japan buy dogs, they don't adopt them
B.  Because, in Japan, a dog's breed matters
C.  both A and B

4. What percentage of shelter dogs in Great Britain are killed every year?
A.  88%
B.  6 to 9%
C. 70%

5. What is a synonym for "dog" that is used in the article?
A.  feline
B.  mutt
C.  both A and B

Text 4: Global Warming
The world's oceans have warmed 50 percent faster over the last 40 years than previously thought due to climate change, Australian and US climate researchers reported Wednesday. Higher ocean temperatures expand the volume of water, contributing to a rise in sea levels that is submerging small island nations and threatening to wreak havoc in low-lying, densely-populated delta regions around the globe. 
The study, published in the British journal Nature, adds to a growing scientific chorus of warnings about the pace and consequences rising oceans. It also serves as a corrective to a massive report issued last year by the Nobel-winning UN Intergovernmental Panel on Climate Change (IPCC), according to the authors. 
Rising sea levels are driven by two things: the thermal expansion of sea water, and additional water from melting sources of ice. Both processes are caused by global warming. The ice sheet that sits atop Greenland, for example, contains enough water to raise world ocean levels by seven metres (23 feet), which would bury sea-level cities from Dhaka to Shanghai. 
Trying to figure out how much each of these factors contributes to rising sea levels is critically important to understanding climate change, and forecasting future temperature rises, scientists say. But up to now, there has been a perplexing gap between the projections of computer-based climate models, and the observations of scientists gathering data from the oceans. 
The new study, led by Catia Domingues of the Centre for Australian Weather and Climate Research, is the first to reconcile the models with observed data. Using new techniques to assess ocean temperatures to a depth of 700 metres (2,300 feet) from 1961 to 2003, it shows that thermal warming contributed to a 0.53 millimetre-per-year rise in sea levels rather than the 0.32 mm rise reported by the IPCC. 
1. What happens when the ocean's temperature rises?
A.  It causes sea levels to rise.
B.  It causes sea levels to remain constant.
C.  It causes sea levels to decrease.
2. The rise in water levels is especially dangerous for small island nations and:
A.  low-lying urban areas.
B.  all coastal cities.
C.  people who live on the beach.

3. The new study:
A.  shows that thermal warming contributed to a 0.32 millimeter-per-year rise in sea levels.
B.  did not reveal anything that scientists didn't already know.
C.  used new techniques to assess ocean temperatures. 
4. Ultimately, the new study should help scientists to:
A.  lower water levels.
B.  better predict climate change.
C.  bury sea-level cities like Dhaka and Shanghai.
5. What was the main finding of the study?
A.  That not enough is being done about global warming.
B.  That ocean waters have warmed faster than scientists had previously thought.
C.  That the warming of the world's oceans is not a threat.

Text 5: Rembrandt Self Portrait
The auction house thought the portrait was a 17th century Rembrandt knockoff, and valued it at just $3,100. But the British buyer who paid about 1,500 times more than that apparently knew what he was doing. Experts have confirmed "Rembrandt Laughing" — bought for a bargain price of $4.5 million at an English auction house in October — is a self-portrait by the Dutch master himself, depicted with his head tilted back in easygoing laughter. 
William Noortman from Noortman Master Paintings, specializing in Dutch and Flemish masters, said it's worth $30 million to $40 million, adding: "I'm very surprised it didn't make more at auction." 
The 9 1/2-inch-by-6 1/2-inch painting will hang in the Rembrandt House Museum in Amsterdam through June 29, on loan from the anonymous Briton who bought it at the auction by Moore, Allen and Innocent in Gloucestershire and had it cleaned and examined by British experts. 
Art expert Jan Six from another auction house, Sotheby's, declined to put a new value on the painting. But he said the sale itself was a rare opportunity, as Rembrandt's works come on the market only once every few years. "A self-portrait by Rembrandt, that's absolutely unique — not in my lifetime," Six said. 
Rembrandt made the self-portrait about 1628, when he was in his early 20s and still in his hometown, Leiden. Already he was earning his reputation as an artist, and experimenting with a mirror and his own face to capture expressions. 

1. Why did the first auction house give the painting such a low value?
A.  They thought it was only worth that much.
B.  They forgot to add a "0" to the number.
C.  They thought it was a fake.

2. The painting was bought for 4.5 million pounds. How much is it worth?
A.  About $30-40 million
B.  About $4.5 million
C.  $3,100

3. Who cleaned and examined the painting?
A.  Experts from Holland
B.  The Moore, Allen and Innocent auction house
C.  Experts from Britain

4. How often do Rembrandt's works come on the market?
A.  Once every decade
B.  Once every couple of years
C.  Twice a year

5. Rembrandt painted this self-portrait:
A.  after he left his home town of Leiden.
B.  when he was in his 20s.
C.  without using a mirror.

[bookmark: _GoBack]Text 6: San Francisco International Airport Doing Well, Unlike Others
While airports across the nation — including in Oakland and San Jose — are losing passengers by the planeful, San Francisco International is gaining business by taking advantage of cheaper flights. 
SFO had 18.4 million passengers in 2009, 330,000 more than in 2008. It was the sixth straight year more people went through the airport, according to federal statistics released Monday. SFO's traffic rose 2 percent from 18.1 million travelers in 2008, and has grown by 31 percent since 2003, when it had 14.1 million passengers. 
By contrast, air travel has dipped each of the past two years across the nation, from 838 million passengers in 2007 to 770 million in 2009. 
SFO maintained its rank as the 10th-most-used airport in the United States and was the only airport in the top 10 that did not lose traffic. SFO has climbed from No. 13 in 2007 and was on pace to surpass Nos. 7-9, Houston, Las Vegas and Phoenix, respectively, by year's end. 
Still, SFO has lost international fliers each of the past two years and has yet to reach levels from before air travel plummeted in the wake of the Sept. 11, 2001, attacks. 
SFO spokesman Mike McCarron said officials expect another small increase in traffic this year, likely about 3 percent to 4 percent. Such a gain would put the airport at its highest passenger count since its record year in 1999. 
He credited the addition of Southwest Airlines, JetBlue Airways and Virgin American, all low-cost carriers that began flying out of SFO in 2007 as the economy was teetering on the edge. Fliers have been flocking to the cheaper airlines as they expand service, and Southwest has become SFO's third most-popular carrier. 
1. How many more passengers does San Francisco International airport (SFO) have now than in 2003?
A.  18.4 million
B.  330,000
C.  About one third more

2. How many other of the "top 10" airports in the United States didn't lose traffic in 2009?
A.  None
B.  Only one other airport
C.  Oakland and San Jose

3. Across the United States, close to ___________fewer passengers flew in 2009 than in 2008.
A.  770 million
B.  840 million
C.  70 million

4. According to this article, what's the main reason for SFO's success?
A.  bad decisions made by nearby airports
B.  it is a hub for several low-cost airlines
C.  increasing number of international fliers

5. What's expected to happen in 2010, in terms of passengers at SFO?
A.  The airport is expecting a slight decrease in 2010.
B.  The airport is expecting another increase.
C.  The airport expects its highest passenger count ever.
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